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QUESTION 1

A man of mass 60 kg, runs up the stairs of total height 5 meters in 4 seconds. 

How much power is exerted by the man? 

A. 800W 

B. 750 W 

C. 250W 

D. 1000W 

Correct Answer: B 

 

QUESTION 2

If a cell is placed in a hypertonic solution, what will happen to the cell? 

A. It will swell. 

B. It will shrink. 

C. It does not affect the cell. 

D. It will stay the same. 

Correct Answer: B 

A hypertonic solution is a solution with a higher particle concentration than in the cell, and consequently lower water
content than in the cell. Water moves from the cell to the solution, causing the cell to experience water loss and shrink. 

 

QUESTION 3

Which of these is an example of protein-related malnutrition? 

A. scurvy 

B. kwashiorkor 

C. rickets 

D. anemia 

Correct Answer: B 

 

QUESTION 4
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If someone is lying belly-down, their positioning is said to be what? 

A. posterior 

B. prone 

C. supine 

D. lateral 

Correct Answer: B 

 

QUESTION 5

Which of these organs is made up of epithelial tissue? 

A. the skin 

B. the liver 

C. the heart 

D. the brain 

Correct Answer: A 
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